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Stability 3 
 
Multiple Choice Quiz 
 
TI Precision Labs – Op Amps 



Quiz:  Stability 3 
1. (T/F) An open-loop circuit is required to generate the Aol, 1/! and Aol* !  
curves. 
a.! True 
b.! False 
  
2. (T/F) The DC operating point of a circuit will not affect open-loop 
simulation results. 
a.! True 
b.! False 

 
3. (T/F) Once the feedback loop is broken, a small-signal source is 
injected into the: 
a.! Low Impedance node 
b.! High Impedance node 
c.! Power Supply 



4. For proper open-loop simulation the simulation circuit must be: 
a.! Open-loop for dc and open-loop for ac frequencies 
b.! Open-loop for dc and closed-loop for ac frequencies 
c.! Closed-loop for dc and closed-loop for ac frequencies 
d.! Closed-loop for dc and open-loop for ac frequencies 

Quiz:  Stability 3 



Stability 3 
 
Multiple Choice Quiz:  Solutions 
 
TI Precision Labs – Op Amps 



Quiz:  Stability 3 
1. (T/F) An open-loop circuit is required to generate the Aol, 1/! and Aol* !  
curves. 
a.! True 
b.! False 
  
2. (T/F) The DC operating point of a circuit will not affect open-loop 
simulation results. 
a.! True 
b.! False 

 
3. (T/F) Once the feedback loop is broken, a small-signal source is 
injected into the: 
a.! Low Impedance node 
b.! High Impedance node 
c.! Power Supply 



4. For proper open-loop simulation the simulation circuit must be: 
a.! Open-loop for dc and open-loop for ac frequencies 
b.! Open-loop for dc and closed-loop for ac frequencies 
c.! Closed-loop for dc and closed-loop for ac frequencies 
d.! Closed-loop for dc and open-loop for ac frequencies 

Quiz:  Stability 3 



Stability 3 
 
Exercises 
 
TI Precision Labs – Op Amps 



1.! Simulate the Loop-Gain (Aol!) Phase Margin for the circuit below 
with the following capacitive loads: 
a.) 10pF 
b.) 100pF 
c.) 1nF 

V-

V+

V- V+

Vo
-

+ +3

2

6

7
4

OP AMP

V1 -15 V2 15

CLoad 10p

1333 - Stability 3 - Problem 1.TSC 

http://training.ti.com/system/files/docs/1333%20-%20Stability%203%20-%20Problem%201.TSC


2.  Simulate the Loop-Gain (Aol!) Phase Margin for the circuit below. 

V- V+

V-

V+

V1 -15 V2 15

Vo

R6 90kR7 10k

CN 10nRN 100

-

+ +3

2

6
7

4

OP AMP

1333 - Stability 3 - Problem 2.TSC 

http://training.ti.com/system/files/docs/1333%20-%20Stability%203%20-%20Problem%202.TSC


Stability 3  
 
Solutions 
 
TI Precision Labs – Op Amps 



1.! Simulate the Loop-Gain (Aol!) Phase Margin for the circuit below 
with the following capacitive loads: 
a.) 10pF  55.7° 
b.) 100pF  50.5° 
c.) 1nF  21.5° 

V-
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V- V+

Vo

+

VG1

-

+ +3

2

6

7
4

OP AMP

L1 1T

C1 1T

V1 -15 V2 15

CLoad 10p

Vfb

1333 - Stability 3 - Problem 1 -Solution.TSC 

http://training.ti.com/system/files/docs/1333%20-%20Stability%203%20-%20Problem%201%20-Solution.TSC


1.! Simulate the Loop-Gain (Aol!) Phase Margin for the circuit below 
with the following capacitive loads: 
a.) 10pF  55.7° 
b.) 100pF  50.5° 
c.) 1nF  21.5° 

V-

V+

V- V+

Vo

+

VG1

-

+ +3

2

6

7
4

OP AMP

L1 1T

C1 1T

V1 -15 V2 15

CLoad 10p

Vfb



1.! Simulate the Loop-Gain (Aol!) Phase Margin for the circuit below 
with the following capacitive loads: 
a.) 10pF  55.7° 
b.) 100pF  50.5° 
c.) 1nF  21.5° 

V-

V+

V- V+

Vo

+

VG1

-

+ +3

2

6

7
4

OP AMP

L1 1T

C1 1T

V1 -15 V2 15

CLoad 10p

Vfb



2.! Simulate the Loop-Gain (Aol!) Phase Margin for the circuit below. 

 Phase Margin = 11.8° 

V-

V+

Vo

R6 90kR7 10k
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VG3

Vfb

L3 1T
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CN 10nRN 100

-

+ +3
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OP AMP R1 1k
C1 100p

1333 - Stability 3 - Problem 2 -Solution.TSC 

http://training.ti.com/system/files/docs/1333%20-%20Stability%203%20-%20Problem%202%20-Solution.TSC
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